— Total bkg. (B-only fit)
== Total bkg. (5+B fit) + 1o

CMS 96.4 fb™ (13 TeV)
g 10° = VTR pp-CR —4— Data
; N Z(Ih+jets (strong)
e g Z(Il)+jets (VBF)
L%’ 15_ Other EW, QCD multijet

i

II| IIIIIIII| I/IIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| I

1072 e Events / 2250 GeV
107 ;— t
10—4 :r | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |

-4 B-only fit 4 S+B fit \\ Bkg. uncertainty

1000 1500 2000 2500 3000 3500 4000 4500 5000

m; (GeV)

Data / prediction



	Contents
	Page 1


